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K8040VS-1 4.5 1 0.5 THFEAR
K8040F-1 4.5 1 0.5 THFEAR
K8040VS—2 5 1.2 0.6 TEFAR
& __C K8040F-2 5 1.2 0.6 THFA
K8040VS-3 5.5 1.4 0.8 TETFAR
A

< - K8040F-3 5.5 1.4 0.8 THFEAR
B K8040VS-4 6 1.4 1 TEHTFA
= K8040F—4 6 1.4 1 THFER
K8040VS—5 6.5 1.4 1 TEFAR
K8040F-5 6.5 1.4 1 THFEAR

Zithe) A B C FHi&
K8030VS-1 3 1.2 0.5 TEFAR
K8030F-1 3 1.2 0.5 THWFAR
K8030VS-2 3.3 1.4 0.6 THFER
K803TF-2 3.3 1.4 0.6 THFEAR
. == o= T - K8030VS—3 3.6 1.5 0.7 FTHEA
!_U . K8030F-3 3.6 1.5 0.7 THFEA
l A K8030VS—4 4 1.6 0.8 FHFEA
/ K8030F—4 4 1.6 0.8 T TA
\/w // K8030VS-5 4.3 1.7 1 TEiFA
:: C K8030F-5 4.3 1.7 1 THFER
K8030VS—6 4.5 1.8 1 TR

K8030F-6 4.5 1.8 1 TEFAR



